
1.   Rice crispy  box    

                                Length   35cm       width  22cm         

      2.        Pasta box   

                             Length    14cm        width  7.5cm    

      3.         Noodle pack     

                             Length     19cm      width    15cm 

       4.        To get a perimeter of a square   This a square it is different to any other shapes because it has 

equal side length.So to work this out you have to measure one length of the shape but an easier way to 

say it you have to times it by four. 

        

Perimeter of ; 

1.      35cm+22cm=57 

                    35cm+22cm=57 

                     57+57=114 

 

       2.     14+14=28 

                 7.5+7.5=15 

               28+15=43 

3   19+15=34 

19+15=34 

 

34+34=68 

 


